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33 T RN 4.0mg/LO| S} 0.61 0.63
34 SEC|IZ20E 0.1mg/LO| 35} 0.014 0.005
35| o e 0.08mg/LO| 5} 0.007 0.005
36 X%ﬂ HEZOCI2ZZ0E 0.03mg/LO| &} 0.004 EUE
37 |l ClEgn S22 0t 0.1mg/LO| 5} 0.003 =4
38 ﬁ S EESI0|E|0|E 0.03mg/LO| 5} 0.0042 0.0009
39 % CIHZZONELEE 0.1mg/LO| 3} =45 =45
40 é 2220 ELEY 0.09mg/LO| 5 0.0028 0.0008
41| ezzzzomeley 0.004mg/LO| 8} 221z 27z
42 SZOLM EOA = 0.1mg/LO| 5} 0.02 0.005
43 ZELHSE 0.5mg/LO| St =dE =dE
44 4 = 300mg/LO| S} 33 21
45 WAL E A 10mg/LO| St 13 14
46 N 2 F =dE =dE
47 ot = q =dE =dE
48 & 1mg/LO| St =45 =45
49 M E 5=0|5} =45 =45
50 ;Ei 4 A 0.5mg/LO| 3} 24z 24z
51| = T202EE 5.8~8.5 7.1 7.1
52 & of o 3ng/L0| 3} 27 0.005
53 % ga0|2 250mg/LO| 8} 6.6 6.4
54 | 17 ZunEE 500mg/L Ot 61 35
55 A 0.3mg/LO| 3} =45 =45
56 2zt 0.05mg/LO| 5} =4 =4
57 S 0.5NTUO| 3} 0.05 0.05
58 ghHito|2 200mg/LO| 5} 4 3
59 L2015 0.2mg/LO| 35} =45 =45
60 HEMY 0.01mg/LO| S} 0.0019 =4
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